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Suppose it is now 4:00 PM. What time will it be in 245 hours? Label your answer AM or PM.
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What number does N represent?
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10 +20 + 30 + 40 + 50 + N =220

I am thinking of a number. If you subtract 3 from my number and then multiply by 4, the result is 28.
What number am I thinking of ?
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Zach buys two hot dogs and three drinks for $14. Drinks cost $2 each. How much does one hot dog cost?
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How many digits are in the product of the following:
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2x3x5x2x3x5x2x3x5

Ashley’s locker number is a three-digit multiple of 5. The tens digit is the sum of the hundreds digit and
the ones digit. The sum of all three digits is 16. No digit is repeated. What is Ashley’s locker number?
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What is the least multiple of 9 that is greater than 150?
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What number between 104 and 140 is divisible by 6 and divisible by 15?
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Michael has $5 less than Samantha. Samantha has $10 more than Rob. Rob has $15 less than Hailey. How
many more dollars does Hailey have than Michael?
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Lisa has a secret 3-digit number. No digit is 0. She says:
The hundreds digit is a multiple of 4.
The tens digit is a perfect square.
The ones digit is a multiple of 3.
The digits are in decreasing order.
What is Lisa’s secret number?
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